Enrollment No......ccvveereervernennens

Diploma in Engineering (Polytechnic)
Fourth Semester Examination, June-2021
Computer Network [CSD401T]
Branch-CS
Time: 3:00 Hrs Max Marks 70
Note : Student should not write anything on question paper.
Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8

e : faemeft gy R §8 fad 787 | yom e gd &A1 Afard 2 |
9T . 2 4 8 Od ¥ 2l Uld &I SR <1 Afard 2|

Q.1  Multiple choice Question / e g [2x5=10]

Q) An IP address is of how many bytes-
& |P address fba qiged &1 8—

(@) 1 byte (b) 2 byte (c) 3 byte (d) 4 byte
(i) Router functions in layer-

RUSEAY layer # &1 #=ar &—

(@) Physical (b) Data link

(c) Network (d) Transport

(iii) ~ Which protocol provides network layer services-
P AT Wbl edd olUx qarg & Bl 8—

(@) TCP (b) IP
(c) ARP (d) UDP
(iv) Which topology requires switch-
fre Srardret § Raa &1 sawIdmdr
(2) Mesh (b) Star
(c) Bus (d) Tree
(v))  Ethernet uses byte physical address-
$RAT gge NS 9d BT SUANT BT 8-
(a) 2 (b) 4 (c)6 (d)8

Q.2 (a) What is the use of Uniform Resource Locater for the client? Explain.
TS @ fory IFHH RERT dldex & SUINT 997 87 @ R H 9ard |

(b) How does TCP achieve reliability in data transmission?
TR Ser giafiee # fAeadadr o Ui BT 87
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Q.3

Q4

Q.5

Q.6

Q.7

Q.8

() Explain in detail about the sliding window protocol using selective
repeat.

giaT SERE HT AN TR TS AT Uieiadie & aR # R | sy |
(b) Discuss briefly about the multilevel multiplexing

g JgddT @ IR F e # T B |

(a) Compare and contrast a circuit-switched network and a packet-

switched network.
g Afdbe Raa eas iR & Jae Rag Acas o1 o iR faudid |

(b) Write a short note on ARPANET.
ARPANET W ta wféra e forRay |

(a) What are types of computer networks? Explain with diagram
PFYCR Cad (e TPR & Bl &¢ WSS |

(b) Types of topologies? Explain with the help of diagram.
TOrErel @ YHR? NG & Feradl J Gy |

(a) What is an application layer protocol? Write its function and application
in brief.

UGB olIR UICidlel a7 87 ST BRI 3R Hiera 7 gy foRkay |

(b) Write the function of each layer with diagram.

ING & AT TG WA & BRI faRay |

(a) Explain the frame of IPV4.

IPVAS %A &7 F931SY |

(b) Give the format of UDP datagram.
UDP Serim &7 ursy <1 |

(a) Discuss how Internet has revolutionized many aspects of our daily

lives.

=l BN B gexie o BAR P Sl & $ Usgell BT Y Hifd o <1 2

(b) How does CSMA/CD protocol improve the performance over

CSMA protocol for long frames?

CSMA / CD vrciata @d %A & forg CSMA Uieiaid IR UeR &I & J8ax a-7dT
27?
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Enrollment No......ccoveeveeveicvrenen.

Diploma in Engineering (Polytechnic)
Fourth Semester Examination, June-2021
Database Management System [CSD402T]

Branch-CS

Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.

e :

Q.1
(1

(i)

(iii)

(iv)

(v)

Q.2

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8

faemeft yera w B fad 21| g yw g & A 2
U H. 2 9 8 Td A fH uig &1 S a1 Afrard 21

Multiple Choice Question / a¥gfs yga [2x5=10]

What is known as an organized collection of logically related data-
difhed ®T W G Sl & Tdh GIfod WIg @ w9 H fhd ST SIdm 28—
(a) Data / a1 (b) Meta data / #er <er
(c) Database / Sere (d) Information / g=®rTe

In the datasheet, what does each column represent-
Scrfie #, Ud Hied |7 Sidl 8—

(a) Record (b) Field
(c) Database (d) Table

In the datasheet, what does each row represent-

Screfie #, yds dfed @i gerfar 8-

() Record (b) Field
(c) Database (d) Table

What do you call a primary key field included in another table-

3y fdt o= et # enfie Wrerfies goil Wies @ R ded -
(a) Foreign key (b) Parent key

(c) Child key (d) Index

What item is used to form-

B F & forg {5 a%g &1 ST faar Srar 8-

(a) Tables and queries (b) Tables only

(c) Tables and reports (d) Queries and reports

(a) Design an E-R diagram a banking enterprise. Illustrate all the essential features
Th §—3R NG UH dfbT Sed foigd & | o1 onawaes faemanst & fafya
BIFTY |
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Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

(b) Explain select, project, join, and division with example.
IETEROT & AT I, Wrotde, Sigd iR fSdIo @& ar # qasy |

(a) Explain lossless decomposition and functional dependencies with example.
ISRV & AT IR e iR drafeas fFRar & arean sy |

(b) Design a generalization-specialization hierarchy for a motor vehicle sales
company. The company sales motorcycle, passenger cars, vans and busses. Justify
your placement of attributes at each level of the hierarchy.

g AR are @t du & folw U ariiaxv—faRivsar uersd fSems | B
P! fasp) Arexasfdd, I FR, 9 3R 99| RHHA b TP WX R AR &

U ARSI Sferd ST |

(a) Explain with example that in what situation the attribute of a relationship is
considered.

ISTEROT & A1 w5 f Rerfay # Rea oot faRiwar = faar fsar <mar 21
(b) Explain immediate update and deferred update of recovery techniques.
chTel JTGITT DI RARAT B AR GAUIG Tl & AqATT Bl I IR T |

(a) What is normalization? Why is it needed? Discuss all the normal forms in

detail.

AHTAEROT T B? SH@! SawadhdT gl 2?7 IR | |l I wul W) Faf STy |
(b) What is the difference between 3 NF & BCNF?

3 UU% 3R RIS & de T SR 87

(a) What are integrity constraints? How do we impose then and what are its types?
3RGSAT Bl IrENT T 27 BF 99 DA TG iR 3P bR T &7

(b) What is a multi-valued dependency? What is its importance?

IE—oga iRl 9T 27 SHdT " 9T 57

() What is loss less join decomposition & dependency preservation?
JEre iR fiRar wRer § B R’ g

(b) Explain the various data models briefly with an example.
fafr=1 ST AfSal o1 Herg H o IIERIT B A1 FHSSY |

Explain the following terms :

frforaa el @1 R BIfsg—

i) Domain constraints / SIEEECISIY

ii) Key constraints / 9% 9TET

ii1) Assertions / 4 YbR b T

iv) Triggers / forsd

X IaTERVl & oY Sferd Sarever dfY |
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Enrollment No......ccoveeveeveicvrenen.

Diploma in Engineering (Polytechnic)
Fourth Semester Examination, June-2021

Linux & Shell Programming [CSD403]
Branch-CS
Time: 3:00 Hrs Max Marks 70
Note: Student should not write anything on question paper.
Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8

e : faemff yeua R 8 fad T8 | o ye ga o3 a2
Y . 2 @ 8 % ¥ gl uid BT SR < IAfard 2|

Q.1 Multiple choice Question / Txqfrs gz [2x5=10]

(i) The ‘logout’ built in command is used to
firee 71 e ot wanT faerds forg foma Sirar 22

a) shutdown the computer/ swgez §& @

b) logoff of the computer/ swe= @ dfraiis

¢) logout the current user/ acH SuaTEdf oI AMTTST TN
d) to exit the current shell/ g 9/t & a1&” Mt & for

(i1) The command ‘umask -S’
a) prints the current mask using symbolic notation/
SIeh{cTe TP T SUINRT PR ATHI T bl S BT &

b) prints the current mask using octal numbers/

c) sets the mask to 000/ A== &T 000 TR Je T &
d) sets the mask to 777/ are @1 777 R Jc F=aT &

(iii) The ‘mapfile’ command
I8 AU’ BHIS
a) reads lines of standard input and assigns each to the element of an

indexed array/

b) reads lines of standard output file/ sma srseye wiger & dfrat @ g &
c) reads lines of standard error file/ awe 3fe Frecr & dfnat @ gear &
d) none of the mentioned/ sfeeac # & #1¢ =&t
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Q.2

Q.3

Q4

Q5

Q.6

Q.7

Q.8

(iv) Which option of the kill command sends the given signal name to the
specified process? e @is &1 Hi 1 ey 3y 7u Rivter 7 &t FfSE wfthar 7 o 82

a) Il b)-n/< ¢) —sl-w d) —a/ T

(v) Which command puts a script to sleep until a signal is received?
B o TS Reghte BT aF T TollT 3 Xl & e A DS Aot UTH T8l 81 SIrar?

a) sleep/gw  b) suspend/ frefea ¢) disown/ sreier d) break/ drer

a) Explain Linux architecture with block diagram.feres areqaerr &t emear o
b) Are there any Linux programs that will read and write Microsoft Office
files? o7 for 77 v & S AT 3iifth 9 Frsdl @ ug aiik o1 @ e

a) Explain Linux file system in details.fraxor 3 fomat wrger Rice &t e &)

b) What about disk drive partitions? Don’t they have drive letters either?
o S1ga Ao & IR F qar? 7 S U gred arerR off A8t £

a) What is a virtual desktop? agsrer swamcia aam 22

b) Is it possible to share a program across multiple virtual desktops?
AT THIGD TFreT STPTIT TR U HIHTT AT HRAT T 22

a) If I want to issue a command, how do | open a command prompt?
3R  shrle SR AT TTEel €, 1§ drfe Hiee ey Wiel?

b) What are the Linux equivalents to DOS/Windows commands?

1 / TSNt @i & 7 ¢ o ot awiaer aam 82

a) What do meant by i-node? Explain?smé-are @ a2 #era &2 @wemr
b) Explain in brief file access permission? wfim mrger toa arafer & aaml

a) A Explain types of file in Linux? feme=r & wrger & wert ot camear &

b) Explain the following command with their syntax and example:
frfRad arRT @1 S5 RICaT 37 SeTeRT & |Ter GHSTST:

a) What is the root account and how does it differ from a user account?
St AT W & 37R I8 STNTebd! TN I 7T B &2

b) Can you explain more how the directory structure of Linux works?
T MY forrar &t FEfrenT TRaT & & B o Tl 22
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Enrollment No......ccoveeveeveicvrenen.

Diploma in Engineering (Polytechnic)
Fourth Semester Examination, June-2021

Microprocessor & Interface [CSD404T]
Branch-CS

Time: 3:00 Hrs Max Marks 70

Note: Student should not write anything on question paper.

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8
e : faerff yeaua R 8 fad T8 | o ye g o3 a2

YT ®. 2 ¥ B. 8 dP § gl g &1 Sux < Afard 2|

Q.1 Multiple choice Question / axgs ue= (2x5=10)
0] Which is the microprocessor comprises-
AISHIUATN & DI AT oAl

(2) Register section / ISR 31g4TT

(b) One or more ALU / v& @1 & & a1fs ALU
(c) Control unit/ fr=or faqmT

(d) All of these /a1 &+t

(i) What is the store by register?

IR GRT TR T 82

(a) data/ ser (b) operands/ sifwies

(c) operands/ wfer (d) None of these/ g7 & @13 &
(iii) Accumulator based microprocessor example are

Accumulator STeRd ATSHITRIAIR ISTERT &:

(@) Intel 8085/ <t 8085 (b) Motorola 6809 / AISCRIT 6809

(c)AandB/ 319 9 <M (d) None of these/ s &1 &1 ==&
(iv) A set of register which contain are:

e BT T Ae Forast anfivet &:

(a) data/ser (b) memory address/ Hfar ucr

(c) result/ aRems (d) All of these/ s & &+
(v) There are primarily two types of register:

T B A S TPR P IR BT &

(a) General purpose register/ ST FATSH IRER
(b) dedicated register / wfia ez

(c) Aand B/ @1 g 3 gt

(d) None of these/ s & &1 ==&

Q.2 (a) Distinguish between the memory mapped /O and I/O mapped I/0.
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Q.3

Q4

Q.5

Q.6

Q.7

Q.8

F9RT 1/ 0 3R 1/ 0 HU AT T/ O & i 3R

(b) Discuss the various machines cycles of an 8051 controller.
8051 fi=e & AT #efiHi gshi o= ==t ol

(a) List the different instruction set used in 8085 microprocessor with example.
ISTERVT o AT 8085 HISHIMRIRR H IUANT oy Y faftr=T srgeer de ol

(b) Write down memory mapped 1/0?
FARY A f5T T AARY | / O ford?

(a) Write down the addressing modes of assembly language?
IRATAT T & USRI e forg?

(b) Explain assembly language program instruction classification?
AT T BRI FSer Fffaor Teman?

(a) Explain looping technique and counting?
T Fepritep 3R Ml FHeTar?

(b) Explain El, DI, and RST instruction?
Sarrs, Shans, iR arRuwel e mean

(a) Write down the application of microprocessor.
HISPTUTAEY Eﬁ NIEES] %’I’@I

(b) Explain A/D converter and D/A converter?

T/ S BacR 31k I / ¢ Heacy FHemai?

() Explain multicore technology?
TedIdR HeNfidhT THeman?

(b) Write short note on assembly language data transfer?
SIS YT STT BRI OR JfdH ANe fors?

(a) Write down the application of microprocessor.
ATSHIINIR Bl e o |

(b) Define instruction cycle, machine cycle and T-state.
forcier Tem, Fefie aep 3T -Tor T uRTY @)
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Enrollment No......ccvveereervernennens

Diploma in Engineering (Polytechnic)
Fourth Semester Examination, June-2021
Marketing Management [DE412]
Branch-CE/ CSE/ETC/EE/ME
Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8
e : faemff yeaua R 8 fad T8 | o ye ga o3 AfErd 2

YT %. 2 9 . 8 a® H 2l ulg &1 Sux <1 rfard 2

Q.1 Multiple choice Question:
Q) The additional P’s of marketing are
o & arfaRes ot &
(a) People, Physical evidence, Package / =i, «iftr @rea, e
(b) People, Physical evidence, Process / =i, sifte wmea, wfspar
(c) People, Process, Packaging / i, wftwar, defsm
(d) Physical evidence, Process, Packaging / «ifee e, wfpar, tefi

(i) One of the features of marketing research is
TUIT ST T faTsarat o & Ueb &

(a) It is multi-tasking / =& #ecr e &
(b) It is multi-purpose / 7 sgeeedia &

(c) It is multi-disciplinary / =& sg-fivas &
(d) It is multi-natured / ze sg-fr &

(ili)  The objective of Test Marketing is to
T AIHIST BT 2T &

(2) Test the market with consumers / sTwihrait & wrer SR o gierr o (b)
Introduce product in open market / @er sroir & Sere a1 uRaw &

(c) Predict product’s performance and its future / seue & s aik S wfsg &t
Tfszaroft %

(d) Test consumers with the product / scare @ wrer ST o1 wemr 7

(iv) Pricing is one of the essential components of

T3 FIiRoT STTaeae Teadt § F @ 2
(a) Promotion mix / vHre faw (b) Marketing mix / fagors fasyor
(c) Product mix / Swre fastor (d) STP strategy / T&éd oI

(v) Minimum Wages act is an example for —
A AT TR 39 foft U Serevur € -

(a) Monetary policy /Hifae =i
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Q.2

Q.3

Q4

Q.5

Q.6

Q.7

Q.8

Q.9

(b) Economic policy / amfdfe fa
(c) Legislation / faem
(d) Consumer protection / SuwIeRIT HReToT

(a) What is importance of marketing?

fauer &1 "8 a1 87

(b) Explain various internal factor of marketing.
AT & fAf=1 aridRe HR®I &1 T ST |

Differentiate between selling and marketing.
! iR o & drg faR 9agy |

(b) Explain various external factor of marketing.
AT & fAf= 980 FRGT & AR BRI |

() Explain the new product development and macro environment.

AT SATE AP 3R AhT TATaROT &1 ARAT BT |
(b) Explain segmentation and sales promotion mix.
faro ok s =R fasror wHssy |

(a) Describe the function of packing.

UfHT & P BT IO BT |

(b) Describe nature of consumer behavior.
SUHTET Fa8R Bl Jepfcl Bl aofd BT |

(a) What do you understand by PLC?
QU gRT 3T Fa7 T 2 |

(b) Describe function of sales men?
HAeH H & BT DI AASIR |

(a) Explain various type of product planning.
A= UPR @ TG AT BT ARAT DI |
(b) Define advertisting and personal selling.
fasmue ek afaaera ¥ aRaifva Iy |

(a) Describe method of sales promotion?
by uer=Ifr Y fafy 7 i a2

(b) Compare tradition and modern concept of marketing..
oo @1 URURS 3R AMYAP ATEROT BT AT BT |

(a) Describe factor affecting prize determination of product?
IUTE P GREDPR FafRor 1 TIfaIeT Sy aTel HRe BT ot a2

(b)What is the importance of trade mark?
R g &7 A8 a1 87
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